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7DQJDQ�SURVWHWLN�PHUXSDNDQ�SURWRW\SH GDUL� WDQJDQ PDQXVLD�\DQJ EHNHUMD�

EHUGDVDUNDQ� KDVLO� DNXLVLVL� VLQ\DO� (0*�� (OHFWURP\RJUDSK\ �(0*�� PHUXSDNDQ�

WHNQLN� \DQJ� GLJXQDNDQ� XQWXN� PHQJDNXLVLVL� DNWLYLWDV� HOHNWULN� GDUL� RWRW��

(OHFWURP\RJUDSK\ GLXNXU�PHQJJXQDNDQ�LQVWUXPHQ�\DQJ�GLVHEXW�HOHNWURP\RJUDSK

VHKLQJJD�PHQJKDVLONDQ�UHNDPDQ VLQ\DO�HOHFWURP\RJUDP �(0*��

3DGD�SHQHOLWLDQ�VHEHOXPQ\D��SHUJHUDNDQ�MDUL�WDQJDQ�SURVWHWLN�GLNHQGDOLNDQ�

ROHK�VLQ\DO�(OHFWURHQFHSKDORJUDP �((*��\DQJ�GLSHUROHK�GDUL�DNWLYLWDV�OLVWULN�\DQJ�

GLKDVLONDQ�ROHK�RWDN��1DPXQ��SHQJJXQDDQ�VLQ\DO�((*�XQWXN�PHQJHQGDOLNDQ� MDUL�

WDQJDQ� SURVWHWLN� PHQJKDVLONDQ� QLODL� DNXUDVL� \DQJ� NHFLO�� PHPHUOXNDQ� MXPODK�

FKDQQHO \DQJ� EDQ\DN� GDQ�PHQJKDVLONDQ� QRLVH NHWLND�PDWD� EHUNHGLS� VDDW� SURVHV�

DNXLVLVL�VLQ\DO�((*�

3DGD� 7XJDV� $NKLU� LQL� GLEXDW� SURWRW\SH MDUL� WDQJDQ� SURVWHWLN� \DQJ� EHNHUMD�

EHUGDVDUNDQ�VLQ\DO�(0*�\DQJ�GLKDVLONDQ�ROHK�RWRW OHQJDQ�PDQXVLD��6LQ\DO�(0*�

\DQJ�GLSHUROHK�NHPXGLDQ�GLODNXNDQ�SURVHV�SHQJRODKDQ�VLQ\DO GDQ�EHUIXQJVL�VHEDJDL�

LQSXW \DQJ�GDSDW�PHQJJHUDNNDQ�PRWRU�VHUYR�VHKLQJJD�GLSHUROHK�UHVSRQ�\DQJ�VHVXDL�

DQWDUD�SHUJHUDNDQ�MDUL�WDQJDQ�DVOL�GHQJDQ�MDUL�WDQJDQ�SURVWHWLN�

.DWD�.XQFL� MDUL�WDQJDQ SURVWHWLN��VLQ\DO (0*��IOHNVL��HNVWHQVL��PRWRU�VHUYR�


